[l

IvYAB
No. Ef iR 1R 2R 3R QF
NRE R NZ—E—=vX
1 NRE EE NZ—E—-VZX ’ﬂo
2 HBHE ST —fi&
Wit BA%E — % 6
3 JEL —f& 2
B =R — & 3
4 R AN HRIERER 6
RO#R3E —fi& 4
5 g SR D21%/ 6
e KE D217 6
6 R BHEZ —f& 2
EiE 3= — & 6
B GRID 4
EEF BE GRID 0
8 = FE —f% 6
=l ER —f& 10/22)
9 BE X RI—F=2R 7:50
FiE BT no—7=2 | |
10 TE# & \ —f& |W.O
BH ETKR — % 1
1 BE 5 MITT 6
iE B8 HwO/XI—X 2
12 HFAR E— — % 6
HAX BF —fi& 6
13 [P R Sk 2
il HPS ShyT ]
14 {EE B:éEE —f% |W.O
R AYTF —fi& 3
15 RE B Nn=—F—vx 6
IRt B NZ—E—-VZX P.O
Mk —F —fi&
6 lon xm7 —g
17 [B® = FSHIE
w5 HETF —fi& IW.O
1g [P R — ]
iz NREES — % 0
19 RiIL =8 D217 6
BAa #ME p21%% .0
FeT == —f&
20 les ux —i 6
21 I JEZ —fi& 2
BRI XTF N)—FZR , 6
g —5 — & 1
22 lem a7 —ig 7
23 fIEs S0 FAO/X—X 5
HH EF wo/3—2 [ |6
24 AE A —f |0
A EF — 10/22,
FHe = SiFx 7:50|
25 st Fm Nn=—E—-vx 6
26 RE b — % 2
AR BIF —f& 6
oy [BR ER GRID 0
R TR GRID 3
28 BEH sk — % 6
2H A —fi& 6
29 1§ IEBR Nn=—E—vx 1
g B N=—E—VZX , 6
FH 22 —f& 1
30 lgm == —8 7
31 rhi  SEBR DX 5
TE BT Sl }
R —fi& 6
32 lsm =2 —ig

8H20H (RNAZK8FT). 108228 (RXIBLLL)

SE QF 3R 2R 1R Ef FiE No.
LLERRE B TZHIE 33
wol |em =z RI—F=2
| |s® e —f 34
[0] BiR HH —i%
6 XH EE NZ—bE—v =X 35
.0 T EieT NZ—E—-UX
2R & — %

7 2R EBEF —fi% 36
5 wE8  ARIA —f& 37
W.O| EH BT NI—F=2R

Rl BF — %
7 BRIl BIk — 38
5 £H & HRIEEE 39
7 |l2r == HO/I—X
5 |mm % —f 40
_l10/22 SE#E AT — &

7:50 BH HFH YLy 41
1 NEFF BT 2%
TEF%D &5 n=—e—z[

6 HO KB Nz—tE—-vXxX

1 I FS EIIEEE S 43
6 | KE HEF —f&
4 EO B DiEX 44

6 NE Ex DX

4 ®E AE —fi& 45
5 wab T N)—FZR
{EH ESS team BYS 6

1 ERE team BYS
6 e T PST 47
W.O HEA =8 PST
[T /N LY 48
miE BEF I
BT MSTC 49
3 HEm = MSTC
6 LTI =S —fi& 50
6 ml ET NnyE—)—7
3 M H— MSTC 51
6 | NH BES ™ RIEEE
0 WH FiE —fi& 52

6 IR BF — &

2 D A== (NACP 4 53
W.0O D HTF kX=X

RE R— —f&
6 A& BT —ig 54
4 BmE M 1% 55
AEEED —f
2 |_i|¥.| w— —f‘]fi . 56
L l10/22 S E/li NT—TZR

7:50 = I iy —f& 57

2 aE TWF — &
6' RSP &K H~O/3I—X 58
6 HER OAX —fi&
2 1EEF  F4E ) IHERER 59
w.ol |m@m zuF —i
| [#m #kes —f% 60

4 PH AETF —fi&

6 s N i< HRIERE 61
1 WE BHR — %

6 B H— —fi& 62

4 FEE WMF —f&

6 |(5) =8% = MITT 63
6 BHE BT —fi&
T[f@e# E— oiEE o

W T DEX




	8.20　10.22ミックスB

